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No. Question Feedback 

1 What are 
some 
examples of 
an objective 
or objectives 
that could 
be used to 
assess the 
benefits, 
costs and 
impacts of a 
Renewable 
Hydrogen 
Target for 
electricity 
generation? 

A Renewable Hydrogen Target should be seen as an important first step towards achieving the long term vision of a 
‘net zero’ electricity system based mainly on renewables. The only role for hydrogen power generation in such a 
system is to help solve the large temporal mismatch problem that will develop between renewable supply and electricity 
demand profiles. Achieving sufficient power generation capacity
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No. Question Feedback 

2 How might 
other uses 
of 
renewable 
hydrogen be 
accommoda
ted under a 
Renewable 
Hydrogen 
Target 
certificate 
scheme? 
How might 
Government 
otherwise 
support
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No. Question Feedback 

4 What role 
can the 
infrastructur
e associated 
with the 
production 
of 
renewable 
hydrogen 
(i.e. 
renewable 
electricity 
generation 
facilities, 
electrolysers
, transport 
and storage 
infrastructur
e) play in 
the broader 
SWIS? 

A very important role. Government needs to take action to facilitate the electricity sector building a system 
that interconnects each of the technologies in the renewable hydrogen chain. It is not enough to focus say 
only on electrolysis, or only on power generation. The focus needs to be on deploying some combination of 
renewables+electrolysis+pipelines+H2 storage+power generation because this is the opportunity. 

 

Government is best placed to play an
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5 To the 
extent you 
are able 
please 
reflect on 
some of the 
technical 
issues, 
challenges 
and 
consideratio
ns in the 
utilisation of 
hydrogen in 
the 
generation 
of electricity. 
To what 
extent can 
these 
technical 
issues and 
challenges 
be 
overcome? 
How should 
this impact 
on the 
consideratio
n of
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electricity 
generation 
in Western 
Australia? 
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No. Question Feedback 

Certificate schemes for Renewable Hydrogen Target for electricity generation in the SWIS 

6 Do you 
believe a 
renewable 
hydrogen 
electricity 
generation 
certificate-
based 
scheme 
represents 

basedschemerepresents
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No. Question Feedback 

7 What are 
some other 
approaches 
which could 
be 
considered 
alongside a 
renewable 
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No. Question Feedback 

8 Is the 
proposed 
approach of 
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No. Question Feedback 

9 What are 
the benefits, 
costs and 
impacts of 
an 
exemptions 
regime for a 
Renewable 
Hydrogen 
Target for 
electricity 
generation? 

We don’t really understand why you would want to make exemptions so cannot comment. 

Non-renewable hydrogen  

Renewable fuels 
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No. Question Feedback 

10 Should the 
Renewable 
Hydrogen 
Target for 
electricity 
generation 
consider 
alternative 
renewable 
fuels as 
eligible for 
the creation 
of 
Renewable 
Hydrogen 
Electricity 
Generation 
Certificate? 
Why or why 
not? 

No, keep the focus on hydrogen. It avoids the energy loss of converting it to another fuel and the airborne 
emissions associated with combusting a more complex fuel for generating electricity. A policy focused on 
renewable hydrogen is also a simpler proposition for all parties to appreciate. 

Setting a target 
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No. Question Feedback 
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No. Question Feedback 

12 At a whole-
of-economy 
and / or 
sectoral 
level, what 
do you 
consider to 
be some of 
the benefits, 
costs and 
implications 
of a 1% 
target, a 5% 
target, and a 
10% target? 

The more ambitious you are now for the electricity sector the more likely it is to realise additional cross-sector 
benefits in due course by supplying renewable hydrogen to non-electricity end uses. For example, if the 
sector needs say 1TWh of hydrogen storage to 
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No. Question Feedback 

13 Is the 
suggested 
approach of 
a medium 
term 
aggregate 
target, with 
annual 
entity 
targets, an 
efficient and 
effective 
means to 
achieve the 
objectives of 
the 
Renewable 
Hydrogen 
Target for 
electricity 
generation 
in the 
SWIS? Why 
or why not? 
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No. Question Feedback 

14 To what 
extent 
should 
banking and 
borrowing of 
liabilities be 
permitted 
under the 
scheme? 
What are 
the benefits 
and costs of 
a borrowing 
mechanism 
as 
described in 
the 
paragraph 
above? 

 

Scheme commencement and ramp up  
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sector 
when 
providing 
your 
answer. 
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No. Question Feedback 

17 Over what 
period of 
time do you 
believe is an 
appropriate 
ramp up 
period for 
the 
Renewable 
Hydrogen 
Target for 
electricity 
generation 
in the 
SWIS? In 
providing 
your answer 
reflect on 
the actions 
your 
organisation 
and / or 
sector would 
need to take 
to 
participate 
in the 
scheme. 

It needs to follow an S shape curve, say with a target point
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No. Question Feedback 

18 In the short 
(<5 years), 
medium (5-
15 years) 
and long 
(15+ years) 
term, where 
do you 
expect the 
cost of 
production 
of 
renewable 
hydrogen to 
move from 
the 
estimated 
levels of 
today? What 
do you 
expect to be 
the drivers 
of this 
change? 

We believe the cost of electrolysers can be halved within 5 years, which will help reduce hydrogen costs, 



 

 Page 22 of 25    

No. Question Feedback 
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No. Question Feedback 

20 How 
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21 Would you 
expect one 
very large 
renewable 
hydrogen 
producer, a 
number of 
very small 
renewable 
hydrogen 
producers, 
or some 
other 
combination
, to emerge 
in the State 
as a result 
of the 
scheme? 
Alternatively
, would a 
domestic-
focused 
producer 
have 
sufficient 
scale to 
operate in a 
domestic 
market 
only? 

It depends on the geographic colocation possibilities. In the extreme, the cheapest solution would be one 
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